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7) A billiard ball (mass m = 0.150 kg) is attached to a light string that is 0.50 meters long and
swung so that it travels in a horizontal, circular path of radius 0.40 m, as shown.

."

a) On the diagram aboVg, draw and label fprce diagram of the forces acting on the billiard ball.

b) Calculate the force of tension in the string as the ball swings in a horizontal circle. Show all {_
work including equations used, substitution and final answer. e (e ;rﬂ J
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c¢) Calculate the speed of the ball motion. Show all work ifcluding equations used, substitution

and final answer.
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